SECTION 9 - MANDATORY FORM FLUID DAIRY 24-100-DCC

	(PLEASE TYPE OR PRINT THE FOL	LOWING INFORMATION)
Full Name of Bidder	Prairie Farms	Dany Inc
Main Business Address	13938 Keele	
City, State, Zip Code	Crestwood IL	60418
Telephone Number	708-597-2300 Addr	••
Bid Contact Person	Jason Bittner	Prairie Falors . Com
The undersigned certifies that	he is:	
the Owner/Sole Proprietor Herein after called the Bidder	a Member authorized to sign on behalf of the Partnership and that the members of the Partners	an efficient of the a Member of the Joint Corporation Venture
Juson Bittn		mp of the original are as follows.
(Pi esidont or Par	mer) Branch Manager	(Vice-President or Partner)
(Secretary or Par	tner)	(Treasurer or Partner)
documents referred to or ment	DuPage County, 421 North County ioned in the contract documents, specture and issued thereto.	Farm Road, Wheaton, Illinois 60187, and all other cifications and attached exhibits, including
Further, the undersigned propo and other means of constructi	oses and agrees, if this bid is accepted	d, to provide all riecessary machinery, tools, apparatus, necessary to furnish all the materials and equipment I time therein prescribed.
Further, the undersigned certif the Bidder and in accordance	ies and warrants that he is duly autho	orized to execute this certification/affidavit on behalf of
Further, the undersigned certifi either 720 Illinois Compiled Sta ILCS 130/1 et seq., the Illinois	stutes 5/33 E-3 or 5/33 E-4, bid riggin	pidding on this contract as a result of a violation of g or bid-rotating, or as a result of a violation of 820
The undersigned certifies that I submitting this bid, and that the	ne has examined and carefully prepar e statements contained herein are true	red this bid and has checked the same in detail before and correct.
were properly adopted by the E held and have not been repeak	Board of Directors of the Corporation a ed nor modified, and that the same rer	nd resolutions attached hereto and made a part hereof at a meeting of said Board of Directors duly called and main in full force and effect. (Bidder may be requested executing the contract documents authority to do so.)
Further, the Bidder certifies tha	t he has provided equipment, supplies	s, or services comparable to the items specified in this orizes the County to verify references of business and

Finally, the Bidder, if awarded the contract, agrees to do all other things required by the contract documents, and that he will take in full payment therefore the sums set forth in the bidding schedule (subject to unit quantity adjustments based upon actual usage).

CONTRACT ADMINISTRATION INFORMATION:

CORRESPONDENCE TO CONTRACTOR:		REMIT TO CONTRACTOR:			
NAME	Jason Bittner	NAME	Ponnah Swenczyk		
CONTACT Prairie Fairs Dairy		CONTACT	Projete Falms Dairy		
ADDRESS	13938 Keeler Ave	ADDRESS	2110 Osilby Rd		
CITY ST ZIP	Crestuood IL 6048	CITY ST ZIP	Rockford, PL 61/02		
TX	708-597-2200	TX	815-968-0441 x 114		
FX	708-597-2239	FX			
EMAIL	JBITTNER(O)	EMAIL	DSZEWCZYKO		
	Prairle Farms. Long		Praise faims, com		
COUNTY BILL TO INFORMATION:		COUNTY SHIP TO INFORMATION:			
DuPage County Care Center		DuPage County Care Center			
400 North County Farm Road		400 North County Farm Road			
Wheaton, IL 60187		Wheaton, IL 60187			
TX: (630) 407-6193		TX: (630) 407-6193			
EMAIL: mario.plata@dupageco.org		EMAIL: mario.plata@dupageco.org			
		_	- -		

ALL MATERIALS MUST BE BID AND SHIPPED F.O.B. DESTINATION, DELIVERED AND INSTALLED (FREIGHT INCLUDED IN PRICE)

Prairie Farms Daisy, Inc.

SECTION 7 - BID FORM PRICING

The quantities listed are approximate monthly usages and are for bid canvasing purposes only. All goods are to be shipped F.O.B destination.

NO ITEM SECTION 1 - MARK-UP PERCENTAGE						PERCENTAGE			
1	Mark-up	<u> </u>			Ţ-			Zero	
NO	ITEM	MOU	MANUFACTURER NO.	QTY		PRICE	Ţ	EXTENDED	
SECTI	ON 2 - FLUID DAIRY			<u> </u>			Ь.	PRICE	
<u> </u>	024 Unit Pricing	_							
2	Whole Milk .	8 oz.	1165	2,400	\$	0.3839	13	921.3	
3	2% Milk	GAL	1229	68	\$	5.3045	Ts	360.	
4	2% Milk	8 oz.	1331	6,800	\$	0.3616	\$	2,458.	
5_	2% Milk (plastic)	PT	29579 (14oz)	468	- \$	1.2386	15	579.	
6	Skim Milk	GAL	1421	72	\$	5.0145	1 8	361.6	
7	Skim Milk	8 oz.	5404	5,400	\$	0.3301	\$	1,782.	
8	1% Chocolate Milk	PT	29586 (14 oz)	468	15	1,1410	15	533.9	
9	Fat Free Chocolate Milk	8 02.	6926	3,000	15	0.3601	\$	1,080.3	
10	Half & Half	QT	1591 (Ultra Pasturized)	688	5	4.6222	\$	3.180.0	
11	1% Lactaid - 8 oz.,12/case	CS	34255 (27 cs)	140	\$	1,0564	\$	147.5	
12	1% Lactaid - 1/2 GAL, 8/case	CS	24870 (2%, 6 cs)	40	15	3.8634	S	154.5	
une 2	024 Unit Pricing			 	ــــــــــــــــــــــــــــــــــــــ	- 0.0007	Щ_		
13	Whole Milk	8 oz.	1165	2,400	S	0.3871	\$	929.0	
14	2% Milk	GAL	1229	68	15	5.3511	\$	363.8	
15	2% Milk	8 oz.	1331	6.800	\$	0.3641	\$		
16	2% Milk (plastic)	PT	29579 (14oz)	468	\$	1,1281	\$	2,475.8 527.9	
17	Skim Milk	GAL	1421	72	\$	5.0416	\$	363.0	
18	Skim Milk	8 oz.	5404	5,400	- s	0.3317	S S		
19	1% Chocolate Milk	PĪ	29586 (14 oz)	468	\$	1,1388	\$	1,791.1	
20	Fat Free Chocolate Milk	8 oz.	6926	3.000	15	0.3614	\$	532.9	
21	Half & Half	QT	1591 (Ultra Pasturized)	688	\$	4.5998	\$	1,084.2	
22	1% Lactaid - 8 oz.,12/case	cs	34255 (27 cs)	140	15	1.0564	\$	3,164.6	
23	1% Lactald - 1/2 GAL, 8/case	CS	24870 (2%, 6 cs)	40	\$	3.8634		147.9	
uly 202	24 Unit Pricing		24070 (274 0 CS)		1 4	3.0034	\$	154.5	
24	Whole Milk	8 oz.	1165	2.400	\$	0.2075			
25	2% Milk	GAL	1229	68	\$	0.3975	\$	954.0	
26	2% Milk	8 oz.	1331	6,800	\$	5.4993	\$	373.9	
27	2% Milk (plastic)	PT	29579 (14oz)	468	\$	0.3737	\$	2,541.1	
28	Skim Milk		1421	72	\$	1.2629	\$	591.0	
29	Skim Milk	 	5404	5,400	\$	5.1760	\$	372.6	
30	1% Chocolate Milk		29586 (14 oz)	468	\$	0.3402 1.1631	\$	1,837.0	
31	Fat Free Chocolate Milk	 	6926	3,800	\$		\$	544.3	
32	Half & Half			688	\$	0.3702	\$	1,110.60	
33	1% Lactaid - 8 oz.,12/case		1591 (Ultra Pasturized)	140		4.6622	\$	3,207.59	
34	1% Lactaid - 1/2 GAL, 8/case		34255 (27 cs)	40	\$	1.0564	\$	147.90	
<u>-</u>	12 01 12, 01 0000		24870 (2%, 6 cs)	40	\$	3.8634	\$	154.5	
						GRAND TOTAL	\$	34,931.0	
RAND	TOTAL								
Word	s)								

SECTION 8 - BID FORM SIGNATURE PAGE

The Contractor agrees to provide the service, and/or supplies as described in this solicitation and subject, without limitation, to all specifications, terms, and conditions herein contained. Bidder shall acknowledge receipt of each addendum issued in the space provided on the bid form.

X Signature and Title)

CORPORATE SEAL (If available)

BID MUST BE SIGNED AND NOTARIZED (WITH SEAL) FOR CONSIDERATION